
 36.000 

 24.000 
A

A

BB

12 15 14

 8.000 

33.500
DOOR

OPENING

 36.000 

 .690 

 31.250 

SECTION A-A
3

19

46 75
20

 .718 

21.500
DOOR OPENING 1.250 

 24.000 

SECTION B-B

1

17

21

8

2

 36.000 

 8.000  .843 

C

C  19.250 

 31.250 

 .400 

 22.500 

 34.500 

 .750 

 .750 

20.875
PANEL

32.875
PANEL

SECTION C-C

REVISIONS
REV. DESCRIPTION DATE APPROVED

ITEM NO. PART NO. PART NAME QTY. UNIT
1 HING-VISI-BLK0 BLACK VISION HINGE 2 EA
2 LOCK-VISI-01BK 1/4 TURN LOCK FOR VISION 2 EA

3 STUD-3816-SS00 COPP PLT .3310X1 3/8-16X3/4 CKL 
PANEL STUDS 6 EA

4 SCRW-VISI-M612 VISION HINGE SCREW M6X12 
HXSOCK CAP METRIC GR12.9 2 EA

5 WASH-VISI-1400 1/4 STEEL CONICAL NEOPRENE 
BACKED FOR VISION HINGE 2 EA

6 STUD-1420-05SS CD STUD 1/4 X 1/2 7 EA

7 STUD-1420-ROBO ATS1/4-20X3/4 SS18-8 CD STUD RE 
ROBOT N12/N4X/VI&S 1 EA

8 GASK-WATR-1434 1/4 x 3/4 x 40 N4 WATER RESISTANT 
GASKET 10 FT

9 WELD-GRND-00FT WIRE AND DISCS 3 FT

10 PAIN-POWD-SQFT POWDER PAINT & CHEMICALS PRICE 
/ SQ FT 39.712 SQ FT

11 PAIN-POWD-GR00 ANSI 61 GREY 0.3 KG
12 PRNT-POCK-L000 LARGE PRINT POCKET 1 EA
13 PACK-INNR-0925 9.25 PACKAGING 4 EA
14 STUD-1838-PIN0 CD STUD 1/8 X 3/8 PRINT POCKET 2 EA
15 NUT0-SPED-PP00 PRINT POCKET SPEED NUT 2 EA
16 CART-3624-0000 CARTON FOR 36 X 24 1 EA
17 V-DR-3624 DOOR 1 EA
18 BAGG-VISI-6000 HARDWARE 1 EA
19 V-SS-362408-BODY BODY 1 EA
20 V-3624 PANEL 1 EA

21 V-SS-HB-33 STIFFNER FOR FRONT DOOR 1

22 94895A029 NUT0-1420-0000 6

ASSEMBLY

DATE

SEE BOM  

DO NOT SCALE DRAWING SHEET 1 OF 1

UNLESS OTHERWISE SPECIFIED

SCALE: 1:6 WEIGHT: 88.359

REV.

SHOP DRAWING NUMBER:

C
SIZE PART NAME:

NAME

DRAWN BY

SEE BOM

FINISH:

MATERIAL:

DIMENSIONS ARE IN INCHES
TOLERANCES:
FRACTIONAL 1/32"
ANGULAR: MACH 1°     BEND 1/32"
ONE PLACE DECIMAL      0.1"
TWO PLACE DECIMAL     0.01"
THREE PLACE DECIMAL   0.005"

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
RALSTON METAL PRODUCTS.  ANY 
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
RALSTON METAL PRODUCTS IS 
PROHIBITED.

CUSTOMER:

50 WATSON ROAD
GUELPH, ONTARIO  N1L 1E2

PHONE: (519) 836-2968
TOLL FREE: 1-800-265-7611
FAX: (519) 836-9763         

WWW.RALSTONMETAL.COM

ISSUED BY

CUSTOMER DRAWING NO:

JOB ORDER NO:

(AUTHORIZED SIGNATURE IN RED)

THIRD ANGLE PROJECTION

V-SS-362408PART NO.

A A

B B

C C

D D

4

4

3

3

2

2

1

1


	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A
	Section View B-B
	Drawing View7
	Section View C-C
	Drawing View9


